
4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [HP1201M 3/8" (10mm) 12 Volt Cordless Drill-Driver]/[3/8 in. (10 mm) Cordless Drill-D…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=272&s… 1/2



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [HP1201M 3/8" (10mm) 12 Volt Cordless Drill-Driver]/[3/8 in. (10 mm) Cordless Drill-D…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=272&s… 2/2

 Ref # Part # Description Qty Context Note Foot Note

1 6612001 SCREW (M5 x 26 mm) 1   

2 6903201 CHUCK 1   

3 6620501 SCREW (M3 x 14 mm) 4   

4 6320801 MOUNTING PLATE 1   

5 6722101 STEEL BALL (3 mm) 8   

6 5267710 BALL HOLDER 1   

7 6759001 WASHER 1   

8 360352001 CLUTCH CAP 1   

9 6320701 SPRING PLATE 2   

10 5267511 SLEEVE 1   

11 6809501 SPRING TORQUE CONTROL 1   

12 530353001 LOCATION CUP 1   

13 3000901 LEVEL ASSEMBLY 1   

14 6711101 WASHER 1   

15 6710501 CLUTCH WASHER 1   

16 5260411 BIT HOLDER 1   

17 985302001 HOUSING ASSEMBLY 1   

18 6722001 STEEL BALL (4 mm) 16   

19 985301001
MOTOR WITH GEAR TRAIN

ASSEMBLY
1   

20 290013006 SWITCH ASSEMBLY 1   

21 660206042 SCREW (M3.5 x 16 mm) 7   

22 6620614 SCREW (M3.5 x 14 mm) 1   

23 6856902 MAGNET 1   

24 130111034 BATTERY PACK 2   

25 140111027 CHARGER 1   

26 300377047 CARRYING CASE 1   

27 670820004 DOUBLE BIT 1   

28 6782015 DOUBLE BIT 1   

29 940249001 DATA PLATE 1
(NOT

SHOWN)
 

30 940043030 LOGO PLATE 1
(NOT

SHOWN)
 

 972000758 OPERATOR'S MANUAL    


